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Instructions :
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I FR-YraH 4 & forg |
Write answers in the answer-sheet only.
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gl b 7 &, T@ gH ¥ & IW TFpa 7 & fr@ |
Answer all questions in Sanskrit unless instructions are given . |
otherwise. e
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(Unseen Reading Comprehension)
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(Writing Skills in Sanskrit)
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(Reading Comprehension and Introduction
to History of Sanskrit Literature)

BRASAGN (D] T8 HAGR) 20 3TgT
(Metres and Figures of Speech)
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Answer in a complete sentence.
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Answer as directed.
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Match the words with their meanings and rewrite the same.
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Frame questions on the basis of the underhned words :
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ifafaaresa & a< ?
frafafaa i ¥ -0 o< € ?

What is the metre in the following line ?
TR 3T Y

FEeHE S<q: 35w fagd |

ot T B< &1 I fafaw |

Write an example of any one of the following metres.
Y, W |

IfafEamn] sTergroT TRwmT e -
frafafaa segRl &t aftamed g Sife - |
Complete the definitions of the following figures of speech :

G ‘gemdy_ 0 WV

Gy ‘< o9 fRuga V
(i) I v
Gv) Fradr R v

FHERH R I fo@d |
fort ww STeigR F1 3SR fafey |

Write an example of any one of the following figures of speech.

quEy, IO |
siifafaadfey & ST ? |
frfafad iRl § @9 S9-9 oEgR § ?
What are the figures of speech in the following lines ?
(i) ‘SAfFTETeEE 3T WY U '
(i) ‘AT FATRINAE T AR |
(i) A d qEEUSiey |
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